V Vo-data U=(r - 550) / 50

V =( Mo+ Lg)2 log
Vo=V /0,93
Vo, V., Mg, Lo

570

=-0,35,-u

|Og LO = —0,35[.1)\—U570]
Adaptation: A, =555

»
, +

maximum
log(Vm)=-0,03
Vm=0,93
Threshold
t5=0,00
V¢=0,06

& Uy

L , Lo-data
L=( + )2 log
Lo=L /0,44 [o]s}
Lo, Ley Go,

/ N\ N\

700 A/nm

=-0,350y-u |,
=-0,350,-u ]

_Adaptation: A =570

maximum
log(Lm)=-0,35
Lm=0,44
Threshold
t5=0,00

400
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, VIl -data
=(1,2

y» M, G, Lo

+0,8L0)/2
=\ /0,82

uy=(\ — 550) / 502
log =-0,35u\-u ]
|Og LD = —0,35[.1)\—U570]
Adaptation: A =540

570

maximum
log (V! m)=-0,0
m=0,82
Threshold
ta=0,00

] Uy

uy=(\ — 550) / 502 L ,Lo-data

L=( + )2
Lo=L /0,44

700 A/nm

uy=(\ — 550) / 502
log =-0,35u\—u ]2
log =-0,35u,-u ]
Adaptation: A =570
570

maximum
log(L m)=-0,35

[ L L m=0,44
hreshold

-3

15=0,00

1 3 Uy

400

eew61-8a BE850-4n

600




